
PART LIST 

1 Grille Guard
2 Mounting Brackets  
1 Driver Side Top Bracket  
1 Passenger Side Top Bracket 
4 M12*30 Hex Head Bolt, Stainless Steel   
8 M12 Flat Washer,  Stainless Steel   
4 M12 Lock Washer, Stainless Steel 
4 M12 Hex Nut, Stainless Steel 
2 M10*30 Button Head Bolt, Stainless Steel 
4 M10 Flat Washer,  Stainless Steel   
2 M10 Lock Washer, Stainless Steel 
2 M10 Hex Nut, Stainless Steel 

Note: Westin Automotive advises the installer to use a thread lubricant on all stainless 
steel fasteners. 
PROCEDURE 
1. Remove plastic spoiler beneath front bumper if so equipped.  Loosen the two factory

nuts directly behind the bumper. The bolt pattern on the frame mounting brackets will
be positioned in a manner shown in Figure 1.  Attach frame mounting brackets using
factory nuts as shown in Figure 2. Attaching top brackets open vehicle hood and use
the existing bolts as shown in Figure 3.

2. Line up the two holes on the lower portion of the front bar with the two holes on the
mounting frame brackets (outer edge) fasten using the M12 hardware.  Once the
front bar is attached to the mounting brackets, level and adjust the Grille Guard.

3. Once you are satisfied, attach the top mounting brackets using the M10 hardware
and the existing top bumper bolts.  Tighten all fasteners.

INSTALLATION INSTRUCTIONS 
1997-2003 Dodge Dakota 

1998-2003 Dodge Durango 
Part # 45-0140, 40-0145 

Figure 4 

Figure 1 
Bracket 
Position 



           Figure 2 

 Driver Side Lower Bracket  

           Figure 3 

 Passenger Side Upper Brace 

Shop for quality Westin products on our website.         Buy grille guards and bull bars in our online store.

https://www.carid.com/grill-guards.html
https://www.carid.com/westin-automotive/



